Energy loss (based on ¢c12-19-002)

Changed left arm angle to 6.5 and right arm
angle to 12.6

* Changed scattered electron momentum to 3.0
GeV/c (+- 4.5%) and theta to 6.5 (+- 1.5) deg

Changed kaon momentum to 1.2 GeV/c (+-
10%) and theta to 12.6 (+- 4.5) deg.
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Energy loss electrons

Scattered electron momentum loss vs X'
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Scattered electron momentum loss vs Target z
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Number of Entries

Energy loss kaons

Tritium target 0.4mm, Kaon momentum loss, Momentum = 1.2 GeV, theta = 12.6 deg
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k+ Momentum loss (pBeam-Ip MeV)

Energy loss kaons

Kaon momentum loss vs X'
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To do

 Will do fits soon and corrections soon
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